Naam: JuniorEinstein.nl

Vul de ontbrekende kommagetallen in

Oefening 1

1. < 3,65 < 3,70 < < 3,80

° 130 < <140 <145 <

3 <350 <380 < <380
R 552 _ _ 5’96 ..................... 508
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9. 6,70 < 6,71 < < < 6,74
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Oefening 2

1. 9,60 < < < 9,75 < 9,80

2. < 2,52 < < 2,56 < 2,58
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680 _ o 686 _ 6,88 .....................
8. 4,80 < 4,90 < 5,00 < <

9 < < 2,92 < 2,93 < 2,94

10. 5,70 < 5,72 < < < 5,78



JuniorEinstein.nl

Antwoorden: Vul de ontbrekende kommagetallen in

Oefening 1
1. 3,60 < 3,65 < 3,70 < 3,75 < 3,80
2. 1,30 < 1,35 < 1,40 < 145 < 1,50
3. 3,40 < 3,50 < 3,60 < 3,70 < 3,80
4. 5,90 < 5,92 < 5,94 < 5,96 < 5,98
5. 3,20 < 3,25 < 3,30 < 3,35 < 3,40
6. 2,50 < 255 < 2,60 < 2,65 < 2,70
7. 4,20 < 4,25 < 4,30 < 4,35 < 4,40
8. 6,40 < 6,45 < 6,50 < 6,55 < 6,60
9. 6,70 < 6,71 < 6,72 < 6,73 < 6,74

10. 8,40 < 8,45 < 8,50 < 8,55 < 8,60

Oefening 2
1. 9,60 < 9,65 < 9,70 < 975 < 980
2. 2,50 < 2,52 < 254 < 2,56 < 2,58
3. 8,70 < 880 < 8,90 < 9,00 < 9,10
4. 3,80 < 3,90 < 4,00 < 4,10 < 4,20
5. 3,40 < 3,41 < 3,42 < 343 < 3,44
6. 3,70 < 3,75 < 3,80 < 3,85 < 3,90
7. 6,80 < 6,82 < 6,84 < 6,86 < 6,88
8. 4,80 < 490 < 5,00 < 5,10 < 5,20
9. 2,90 < 2,91 < 292 < 293 < 294

10. 5,70 < 5,72 < 5,74 < 5,76 < 5,78
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